Math 72: Mixed Practice on Selected Concepts from Chapters 1-2

1) Simplify. Write exact answers.

a. —3x+.4x+.5x . (=3%) - (—Ex)
b. —.3x + 4x% + .5x3
. (=3x) - (-—z-y)
c. (—3x)(.4x)(.5x)
— 2
d. (=3x)( 4x2)(.5x%) p. (=3%)
— 3
e. (—3x)(.4x*+.5x3) . (—=3x)
Y g 2
f. (—3x+.4x2)(.5x3) (=3x)
I g, 3
g —2x(—3x)(.4x% + .5x3) - =(=3x)
3 4 t. —(.3x)?
h. —-;+~; ,
u. —(3x)
| =X_x \
34 v. —(—3xy)
J “'3"‘:3'2"‘ w. —(=3xy?)3
- Z2x-2 3xy?\3
k. =3x+4y+-x—=y X, _(__ : )
L (=30 (=2x (L 3xyny?
( 5 ) y. ( xy)

m. (=.30) (~3y)

, ( .3x5y)3
. —

2) Water boils at 212°F, which is also called 100°C. Water freezes at 0°C, which is also called 32°F.
a. Usingxto represent degrees Celsius and y to represent degrees Fahrenheit, write two ordered
pairs, and then use these to write a linear equation to convert °C to°F.
b. Do the problem again. Usingy to represent degrees Celsius and x to represent degrees
Fahrenheit, write two ordered pairs, andk then use these to write a linear equation to convert

°F to °C.
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